ICS 103-081
Quiz 6
Question 1: (7 points)

What is the output of the following programs
	#include <stdio.h>   //2 points
#include <ctype.h> 

int main() {

char s[]="2a*B}#6m";

int i;

for(i=0;s[i]!='\0';i++) {

  if(islower(s[i]))

    toupper(s[i]);

  else if (isupper (s[i]))

    s[i]=tolower(s[i]);

  else if (isdigit(s[i]))

    s[i]=s[i]+1;

  else

    s[i]='t';

 }

printf("%s",s);

return 0;}
	3atbtt7m

	#include <stdio.h>   //2 points
#include <ctype.h> 

int main() {

char s[4][60]={"456","abcdeklmn","KMOPTR","$#@HT}A"};

int i,j,c;

for(i=0;i<4;i++) {

  c=0;

  for(j=0;s[i][j]!='\0';j++)

    c++;

  printf("c=%d\n",c);

}

return 0;}
	C=3
C=9

C=6

C=7

 

	#include <stdio.h>   //3 points

int main() {

int x[3][3],i,j;

for(i=0;i<3;i++) {

  for(j=i;j<3;j++)

    scanf("%d",&x[i][j]);

}

for(i=2;i>=0;i--) {

  for(j=i;j>=0;j--)

    scanf("%d",&x[i][j]);

}

return 0;}
input from the user
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Show the values of array x after executing the program




Question 2: (3 points)

Complete the program below using loops so that the 1-D array sumrows will contain the sum of the elements of each row of the 2-D array x i.e. sumrows[0] will contain the sum of row 0, sumrows[1] will contain sum of row 1 etc..

#include <stdio.h>

int main ( ) {

int i,j;

double x[4][5]={-4.5,6,5.0,8,9.5,-11.2,3.7,7.6,5,9,2.5,11,7.9,8.5,9.1,-1.2,1.5,1,2.5,3.5};

double sumrows[4];

for (i=0;i<4;i++) {
  sumrows[i]=0;

   for(j=0;j<5;j++)

      sumrows[i]=sumrows[i]+x[i][j];

}















PAGE  

